

On a generalization of the Gadovan numbers

ENGİN ÖZKAN*, ENGİN ESER, MİNE UYSAL

ABSTRACT. In this paper, we define (k, l) -Gadovan numbers. We give the Binet-like formula, the generating functions, the exponential generating function of the (k, l) -Gadovan numbers. Also, we derive Cassini-like identity, Catalan-like identity, Vajda-like identity, Honsberger-like identity and D’ocagne-like identity for the (k, l) -Gadovan numbers.

1. INTRODUCTION

First, Fibonacci numbers were studied and it was seen that Fibonacci numbers can find application in nature, many fields of mathematics and other sciences [8–10, 12, 14, 20].

Then many generalizations of Fibonacci numbers have been given. Thus, new number sequences were defined [1, 14, 16]. The relation of these number with Fibonacci sequence has been given. Thus, the newly defined number sequences can indirectly find applications in nature, in almost every branch of mathematics and in other sciences, which has led to an increased interest in number sequences [17–19].

One of these generalized numbers is the Gadovan numbers [4]. The Gadovan numbers are defined by

$$GP_{n+3} = GP_{n+1} + GP_n, \quad n \geq 0,$$

with $GP_0 = a$, $GP_1 = b$ and $GP_2 = c$, where a, b, c .

Diskaya and Menken defined the Gadovan numbers, which generalizes a new class of Padovan numbers [4].

Now, before describing the generalization of Gadovan numbers, let us give the sequences of numbers that we can derive using this generalization.

The Padovan numbers are defined by

$$P_{n+3} = P_{n+1} + P_n, \quad n \geq 0,$$

with $P_0 = 1$, $P_1 = 0$ and $P_2 = 1$.

2020 *Mathematics Subject Classification*. Primary:11B39, 05A15; Secondary:11B83 .

Key words and phrases. Gadovan numbers, k -Gadovan numbers, Binet formula, Generating functions, Cassini identity, Catalan identity.

Full paper. Received 1 March 2024, accepted 10 June 2024, available online 3 July 2024.

The Padovan polynomials are defined by

$$P_{n+3}(x) = xP_{n+1}(x) + P_n(x), \quad n \geq 0,$$

with $P_0(x) = 1$, $P_1(x) = 0$ and $P_2(x) = x$ [5].

The bivariate Padovan polynomials are defined by

$$P_{n+3}(x, y) = xP_{n+1}(x, y) + yP_n(x, y), \quad n \geq 0,$$

with $P_0(x, y) = 1$, $P_1(x, y) = 0$ and $P_2(x, y) = x$ [6].

Padovan numbers and their generalizations have been studied by many researchers [2, 3, 7, 8, 12, 21–25].

The Fibonacci-Pell numbers are defined as follows

$$F_{n+3} = F_{n+1} + F_n, \quad n \geq 0,$$

with $F_0 = 1$, $F_1 = 0$ and $F_2 = 2$ [22].

The Lucas-Pell numbers are defined as follows

$$B_{n+3} = B_{n+1} + B_n, \quad n \geq 0,$$

with $B_0 = 3$, $B_1 = 0$ and $B_2 = 4$ [22].

The Gaussian Padovan numbers are defined by

$$GP_n = GP_{n-2} + GP_{n-3}, \quad n \geq 3,$$

with $GP_0 = 1$, $GP_1 = 1 + i$ and $GP_2 = 1 + i$ [24].

The Perrin numbers are as follows

$$R_{n+3} = R_{n+1} + R_n, \quad n \geq 0,$$

with $R_0 = 3$, $R_1 = 0$ and $R_2 = 2$ [21].

In this paper, we present the generalization of Gadovan numbers named (k, l) -Gadovan numbers. We give the Binet-like formula, the generating functions, the exponential generating function of the (k, l) -Gadovan numbers. In addition, we derive the Cassini-like identity, Catalan-like identity, Vajda-like identity and D'ocagne identity-like for these numbers.

2. (k, l) - GADOVAN NUMBERS

Definition 1. We define the (k, l) -Gadovan numbers $\{GP_{(k,l),n}\}$ by the third order recurrence relation that

$$GP_{(k,l),n+3} = kGP_{(k,l),n+1} + lGP_{(k,l),n}, \quad n \geq 0,$$

with initial conditions $GP_{(k,l),0} = a$, $GP_{(k,l),1} = b$ and $GP_{(k,l),2} = c$.

We show some terms of the (k, l) -Gadovan numbers in Table 1.

TABLE 1. Some terms of the (k, l) -Gadovan numbers.

n	0	1	2	3	4	5	6
$GP_{(k,l),n}$	a	b	c	$kb + la$	$kc + lb$	$k^2b + kla + lc$	$k^2c + 2klb + l^2a$

Note that, the following exceptions occur:

1. For $k = 1, l = 1$, we obtain Gadovan numbers.
2. For $k = 1, l = 1, a = 1, b = 0, c = 1$, we obtain the Padovan numbers.
3. For $k = x, l = 1, a = 1, b = 0, c = x$, we obtain the Padovan polynomials.
4. For $k = x, l = y, a = 1, b = 0, c = x$, we obtain the Bivariate Padovan polynomials.
5. For $k = 1, l = 1, a = 1, b = 1 + i, c = 1 + i$, we obtain the Gaussian Padovan numbers.
6. For $k = 1, l = 1, a = 3, b = 0, c = 2$, we obtain the Perrin numbers.
7. For $k = 1, l = 1, a = 0, b = 0, c = 1$, we obtain the Perrin-Padovan numbers.
8. For $k = 1, l = 1, a = 1, b = 0, c = 2$, we obtain the Fibonacci-Pell numbers.
9. For $k = 1, l = 1, a = 3, b = 0, c = 4$, we obtain the Lucas-Pell numbers.

The characteristic equation of the (k, l) -Gadovan numbers is

$$x^3 - kx - l = 0.$$

The characteristic equation has the following roots

$$x_1 = \frac{\sqrt[3]{\frac{2}{3}k}}{r} + \frac{r}{\sqrt[3]{18}},$$

$$x_2 = -\frac{(1 + i\sqrt{3})k}{\sqrt[3]{12}r} - \frac{(1 - i\sqrt{3})r}{2\sqrt[3]{18}r}$$

and

$$x_3 = -\frac{(-1 - i\sqrt{3})k}{2\sqrt[3]{18}} - \frac{(1 + i\sqrt{3})r}{2\sqrt[3]{18}r},$$

where

$$r = \sqrt[3]{\sqrt{3}\sqrt{27l^2 - 4k^3} + 9l}.$$

It can be easily seen that the following equations are satisfied:

$$x_1 + x_2 + x_3 = 0,$$

$$x_1x_2 + x_2x_3 + x_1x_3 = -k,$$

$$x_1x_2x_3 = l,$$

$$x_1^3 = kx_1 + l, \quad x_2^3 = kx_2 + l, \quad x_3^3 = kx_3 + l.$$

Theorem 1. *The Binet-like Formula for (k, l) -Gadovan numbers $\{GP_{(k,l),n}\}$ is*

$$GP_{(k,l),n} = Ax_1^n + Bx_2^n + Cx_3^n,$$

where

$$A = \frac{c - bx_2 - bx_3 + ax_2x_3}{x_1^3 - x_1^2x_2 - x_1^2x_3 + x_1x_2x_3},$$

$$B = \frac{c - bx_1 - bx_3 - ax_1x_3}{x_2^3 - x_2^2x_3 - x_2^2x_1 + x_1x_2x_3},$$

$$C = \frac{c - bx_1 - bx_2 - ax_1x_2}{x_3^3 - x_1x_3^2 - x_3^2x_2 + x_1x_2x_3}.$$

Proof. For $n = 0$, we have

$$GP_{(k,l),0} = a = A + B + C.$$

For $n = 1$, we have

$$GP_{(k,l),1} = b = Ax_1 + Bx_2 + Cx_3.$$

For $n = 2$, we have

$$GP_{(k,l),2} = c = Ax_1^2 + Bx_2^2 + Cx_3^2.$$

If this system of equations is solved, then the coefficients A , B and C are found.

Thus, the desired result is achieved. \square

Theorem 2. *The generating function of $\{GP_{(k,l),n}\}$ is*

$$G(x) = \frac{a + bx + (c - a)x^2}{1 - kx^2 - lx^3}.$$

Proof.

$$(1) \quad G(x) = \sum_{n=1}^{\infty} GP_{(k,l),n}x^n = GP_{k,0} + GP_{(k,l),1}x + GP_{(k,l),2}x^2 \\ + GP_{(k,l),3}x^3 + \cdots + GP_{(k,l),n}x^n + \cdots$$

respectively multiplying both sides of this identity by kx^2 and lx^3 .

$$(2) \quad kx^2G(x) = GP_{(k,l),0}kx^2 + GP_{(k,l),1}kx^3 + GP_{(k,l),2}kx^4 \\ + GP_{(k,l),3}kx^5 + \cdots + GP_{(k,l),n}kx^{n+2} + \cdots$$

$$(3) \quad lx^3G(x) = GP_{(k,l),0}lx^3 + GP_{(k,l),1}lx^4 + GP_{(k,l),2}lx^5 \\ + GP_{(k,l),3}lx^6 + \cdots + GP_{(k,l),n}lx^{n+3} + \cdots$$

From (1), (2) and (3), we get

$$\begin{aligned}
 G(x) (1 - kx^2 - l x^3) &= GP_{(k,l),0} + GP_{(k,l),1}x + GP_{(k,l),2}x^2 - GP_{(k,l),0}kx^2 \\
 &\quad + (GP_{(k,l),3} - kGP_{(k,l),1} - lGP_{(k,l),0}) x^3 \\
 &\quad + (GP_{(k,l),4} - kGP_{(k,l),2} - lGP_{(k,l),1}) x^4 + \dots
 \end{aligned}$$

After necessary calculations and using the recurrence relation, we obtain

$$\begin{aligned}
 G(x) &= \frac{GP_{(k,l),0} + GP_{(k,l),1}x + GP_{(k,l),2}x^2 - GP_{(k,l),0}kx^2}{1 - kx^2 - l x^3}, \\
 G(x) &= \frac{a + bx + (c - a) x^2}{1 - kx^2 - l x^3}. \quad \square
 \end{aligned}$$

Theorem 3. *The exponential generating function for (k, l) -Gadovan numbers*

$$\sum_{n=0}^{\infty} \frac{GP_{(k,l),n}x^n}{n!} = Ae^{x_1x} + Be^{x_2x} + Ce^{x_3x},$$

where $GP_{(k,l),n} = Ax_1^n + Bx_2^n + Cx_3^n$.

Proof. For the proof, we use Binet formula.

$$\begin{aligned}
 \sum_{n=0}^{\infty} \frac{GP_{(k,l),n}x^n}{n!} &= \sum_{n=0}^{\infty} \frac{(Ax_1^n + Bx_2^n + Cx_3^n)x^n}{n!} \\
 &= A \sum_{n=0}^{\infty} \frac{(x_1x)^n}{n!} + B \sum_{n=0}^{\infty} \frac{(x_2x)^n}{n!} + C \sum_{n=0}^{\infty} \frac{(x_3x)^n}{n!}.
 \end{aligned}$$

We know that

$$\begin{aligned}
 e^{x_1x} &= \sum_{n=1}^{\infty} \frac{(x_1x)^n}{n!}, \\
 e^{x_2x} &= \sum_{n=1}^{\infty} \frac{(x_2x)^n}{n!}, \\
 e^{x_3x} &= \sum_{n=1}^{\infty} \frac{(x_3x)^n}{n!}.
 \end{aligned}$$

So,

$$\sum_{n=0}^{\infty} \frac{GP_{(k,l),n}x^n}{n!} = Ae^{x_1x} + Be^{x_2x} + Ce^{x_3x}.$$

Thus, the proof is completed. □

Theorem 4. *For $m, n \in \mathbb{Z}^+$, there is the following equation:*

$$\sum_{n=1}^{m-1} \binom{m}{n} k^n l^{m-n} GP_{(k,l),n} = GP_{(k,l),3m}.$$

Proof.

$$\begin{aligned}
 & \sum_{n=1}^m \binom{m}{n} k^n l^{m-n} GP_{(k,l),n} \\
 &= \sum_{n=1}^m \binom{m}{n} (A(kx_1)^n + B(kx_2)^n + C(kx_3)^n) l^{m-n} \\
 &= A \sum_{n=1}^m \binom{m}{n} (kx_1)^n l^{m-n} + B \sum_{n=1}^m \binom{m}{n} (kx_2)^n l^{m-n} + C \sum_{n=1}^m \binom{m}{n} (kx_3)^n l^{m-n} \\
 &= A(kx_1 + l)^m + B(kx_2 + l)^m + C(kx_3 + l)^m \\
 &= Ax_1^{3m} + Bx_2^{3m} + Cx_3^{3m} = GP_{(k,l),3m}. \quad \square
 \end{aligned}$$

Theorem 5. For $m, n \in \mathbb{Z}^+$, there is the following equation.

$$\sum_{r=1}^m \binom{m}{r} k^{n-r} l^m GP_{(k,l),n-r} = GP_{(k,l),n+2m}.$$

Proof.

$$\begin{aligned}
 & \sum_{r=1}^m \binom{m}{r} k^{n-r} l^m GP_{(k,l),n-r} \\
 &= \sum_{r=1}^m \binom{m}{r} k^{n-r} (Ax_1^{n-r} + Bx_2^{n-r} + Cx_3^{n-r}) l^m \\
 &= A \left[\sum_{r=1}^m \binom{m}{r} k^{m-r} x_1^{m-r} l^m \right] x_1^{n-m} + B \left[\sum_{r=1}^m \binom{m}{r} k^{m-r} x_2^{m-r} l^m \right] x_2^{n-m} \\
 & \quad + C \left[\sum_{r=1}^{m=1} \binom{m}{r} k^{m-r} x_3^{m-r} l^m \right] x_3^{n-m} \\
 &= A \left[\sum_{r=1}^m \binom{m}{r} (kx_1)^{m-r} l^m \right] x_1^{n-m} + B \left[\sum_{r=1}^m \binom{m}{r} (kx_2)^{m-r} l^m \right] x_2^{n-m} \\
 & \quad + C \left[\sum_{r=1}^{m=1} \binom{m}{r} (kx_3)^{m-r} l^m \right] x_3^{n-m} \\
 &= A(kx_1 + l)^m x_1^{n-m} + B(kx_2 + l)^m x_2^{n-m} + C(kx_3 + l)^m x_3^{n-m} \\
 &= A_1 x_1^{n+2m} + B_1 x_2^{n+2m} + C_1 x_3^{n+2m} = GP_{(k,l),n+2m}.
 \end{aligned}$$

Thus, the proof is obtained. □

Theorem 6 (Cassini-like Identity). For $n \geq 1$, we have,

$$\begin{aligned}
 & GP_{(k,l),n+1} GP_{(k,l),n-1} - GP_{(k,l),n}^2 \\
 &= k^{n-1} \left(ABx_3^{n-1} (x_1 - x_2)^2 + BCx_2^{n-1} (x_1 - x_3)^2 + BCx_1^{n-1} (x_2 - x_3)^2 \right).
 \end{aligned}$$

Proof. For the proof, we use the Binet-like formula.

$$\begin{aligned}
 & GP_{(k,l),n+1}GP_{(k,l),n-1} - GP_{(k,l),n}^2 \\
 &= (Ax_1^{n+1} + Bx_2^{n+1} + Cx_3^{n+1})(Ax_1^{n-1} + Bx_2^{n-1} + Cx_3^{n-1}) \\
 &\quad - (Ax_1^n + Bx_2^n + Cx_3^n)^2 \\
 &= A^2x_1^{2n} + ABx_1^{n+1}x_2^{n-1} + ACx_1^{n+1}x_3^{n-1} + BAx_2^{n+1}x_1^{n-1} + B^2x_2^{2n} \\
 &\quad + BCx_2^{n+1}x_3^{n-1} + CAx_3^{n+1}x_1^{n-1} + CBx_3^{n+1}x_2^{n-1} + C^2x_3^{2n} \\
 &\quad - A^2x_1^{2n} - ABx_1^n x_2^n - ACx_3^n x_1^n - BAx_1^n x_2^n - BB_1^2 x_2^{2n} \\
 &\quad - BCx_3^n x_2^n - CAx_1^n x_3^n - CBx_2^n x_3^n - C^2x_3^{2n} \\
 &= ABx_1^n x_2^n \left(\frac{x_1}{x_2} + \frac{x_2}{x_1} - 2 \right) + ACx_1^n x_3^n \left(\frac{x_1}{x_3} + \frac{x_3}{x_1} - 2 \right) \\
 &\quad + BCx_2^n x_3^n \left(\frac{x_2}{x_3} + \frac{x_3}{x_2} - 2 \right) + AB(x_1x_2)^{n-1}(x_1 - x_2)^2 \\
 &\quad + AC(x_1x_3)^{n-1}(x_1 - x_3)^2 + BC(x_2x_3)^{n-1}(x_2 - x_3)^2 \\
 &\quad + ABk^{n-1}x_3^{n-1}(x_1 - x_2)^2 + ACk^{n-1}x_2^{n-1}(x_1 - x_3)^2 \\
 &\quad + BCk^{n-1}x_1^{n-1}(x_2 - x_3)^2 \\
 &= k^{n-1} \left(ABx_3^{n-1}(x_1 - x_2)^2 + ACx_2^{n-1}(x_1 - x_3)^2 + BCx_1^{n-1}(x_2 - x_3)^2 \right).
 \end{aligned}$$

So, the desired is obtained. □

Theorem 7. (*Catalan-like Identity*) For $n \geq t$, we have,

$$\begin{aligned}
 GP_{(k,l),n+t}GP_{(k,l),n-t} - GP_{(k,l),n}^2 &= k^{n-t} \left(ABx_3^{n-t}(x_1^t - x_2^t)^2 \right. \\
 &\quad \left. + ACx_2^{n-t}(x_1^t - x_3^t)^2 + BCx_1^{n-t}(x_2^t - x_3^t)^2 \right).
 \end{aligned}$$

Proof. For the proof, we use the Binet-like formula.

$$\begin{aligned}
 & GP_{(k,l),n+t}GP_{(k,l),n-t} - GP_{(k,l),n}^2 \\
 &= (Ax_1^{n+t} + Bx_2^{n+t} + Cx_3^{n+t})(Ax_1^{n-t} + Bx_2^{n-t} + Cx_3^{n-t}) \\
 &\quad - (Ax_1^n + Bx_2^n + Cx_3^n)^2 \\
 &= A^2x_1^{2n} + ABx_1^{n+t}x_2^{n-t} + ACx_1^{n+t}x_3^{n-t} + BAx_2^{n+t}x_1^{n-t} + B^2x_2^{2n} \\
 &\quad + BCx_2^{n+t}x_3^{n-t} + CAx_3^{n+t}x_1^{n-t} + CBx_3^{n+t}x_2^{n-t} + C^2x_3^{2n} \\
 &\quad - A^2x_1^{2n} - ABx_1^n x_2^n - ACx_3^n x_1^n - BAx_1^n x_2^n - B^2x_2^{2n} \\
 &\quad - BCx_3^n x_2^n - CAx_1^n x_3^n - CBx_2^n x_3^n - C^2x_3^{2n} \\
 &= ABx_1^n x_2^n \left(\frac{x_1^t}{x_2^t} + \frac{x_2^t}{x_1^t} - 2 \right) + ACx_1^n x_3^n \left(\frac{x_1^t}{x_3^t} + \frac{x_3^t}{x_1^t} - 2 \right) \\
 &\quad + BCx_2^n x_3^n \left(\frac{x_2^t}{x_3^t} + \frac{x_3^t}{x_2^t} - 2 \right) + AB(x_1x_2)^{n-t}(x_1^t - x_2^t)^2
 \end{aligned}$$

$$\begin{aligned}
& + AC(x_1x_3)^{n-t}(x_1^t - x_3^t)^2 + BC(x_2x_3)^{n-t}(x_2^t - x_3^t)^2 \\
& + ABk^{n-t}x_3^{n-t}(x_1^t - x_2^t)^2 + ACk^{n-t}x_2^{n-1}(x_1^t - x_3^t)^2 \\
& + BCk^{n-t}x_1^{n-t}(x_2^t - x_3^t)^2 \\
& = k^{n-t} \left(ABx_3^{n-t}(x_1^t - x_2^t)^2 + ACx_2^{n-t}(x_1^t - x_3^t)^2 \right. \\
& \quad \left. + BCx_1^{n-t}(x_2^t - x_3^t)^2 \right).
\end{aligned}$$

So, the desired is obtained.

If we take $k = 1$, we get the Cassini-like identity. \square

Theorem 8 (D'ocagne-like Identity). *Let n and m be any integers. Then the following identity is true.*

$$\begin{aligned}
GP_{(k,l),m+1}GP_{(k,l),n} - GP_{(k,l),m}GP_{(k,l),n+1} & = AB(x_1 - x_2)(x_1^m x_2^n - x_2^m x_1^n) \\
& + AC(x_1 - x_3)(x_1^m x_3^n - x_3^m x_1^n) + BC(x_2 - x_3)(x_2^m x_3^n - x_3^m x_2^n).
\end{aligned}$$

Proof. For the proof, we use the Binet-like formula.

$$\begin{aligned}
& GP_{(k,l),m+1}GP_{(k,l),n} - GP_{(k,l),m}GP_{(k,l),n+1} \\
& = (Ax_1^{m+1} + Bx_2^{m+1} + Cx_3^{m+1})(Ax_1^n + Bx_2^n + Cx_3^n) \\
& \quad - (Ax_1^m + Bx_2^m + Cx_3^m)(Ax_1^{n+1} + Bx_2^{n+1} + Cx_3^{n+1}) \\
& = A^2x_1^{m+n+1} + ABx_1^{m+1}x_2^n + ACx_1^{m+1}x_3^n + BAx_2^{m+1}x_1^n + B^2x_2^{m+n+1} \\
& \quad + BCx_2^{m+1}x_3^n + CAx_3^{m+1}x_1^n + CBx_3^{m+1}x_2^n + C^2x_3^{m+n+1} \\
& \quad - A^2x_1^{m+n+1} - ABx_1^m x_2^{n+1} - ACx_1^m x_3^{n+1} - BAx_2^m x_1^{n+1} - B^2x_2^{m+n+1} \\
& \quad - BCx_2^m x_3^{n+1} - CAx_3^m x_1^{n+1} - CBx_3^m x_2^{n+1} - C^2x_3^{m+n+1} \\
& = ABx_1^m x_2^n (x_1 - x_2) + BAx_2^m x_1^n (x_2 - x_1) + ACx_1^m x_3^n (x_1 - x_3) \\
& \quad + CAx_3^m x_1^n (x_3 - x_1) + BCx_2^m x_3^n (x_2 - x_3) + CBx_3^m x_2^n (x_3 - x_2) \\
& = AB(x_1 - x_2)(x_1^m x_2^n - x_2^m x_1^n) + AC(x_1 - x_3)(x_1^m x_3^n - x_3^m x_1^n) \\
& \quad + BC(x_2 - x_3)(x_2^m x_3^n - x_3^m x_2^n).
\end{aligned}$$

So, the proof is complete. \square

Theorem 9 (Honsberger-like Identity). *Let n and m be any integers. Then the following identity is true.*

$$\begin{aligned}
& GP_{(k,l),m}GP_{(k,l),n} + GP_{(k,l),m*1}GP_{(k,l),n+1} \\
& = A^2x_1^{m+n}(1 + x_1^2) + B^2x_2^{m+n}(1 + x_2^2) + C^2x_3^{m+n}(1 + x_3^2) \\
& \quad + AB(1 + x_1x_2)(x_1^n x_2^m + x_2^n x_1^m) \\
& \quad + AC(1 + x_1x_3)(x_1^m x_3^n + x_3^m x_1^n) \\
& \quad + BC(1 + x_2x_3)(x_2^m x_3^n + x_3^m x_2^n).
\end{aligned}$$

Proof. For the proof, we use the Binet-like formula.

$$\begin{aligned}
 & GP_{(k,l),m} GP_{(k,l),n} + GP_{(k,l),m*1} GP_{(k,l),n+1} \\
 &= (Ax_1^m + Bx_2^m + Cx_3^m) (Ax_1^n + Bx_2^n + Cx_3^n) \\
 &\quad + (Ax_1^{m+1} + Bx_2^{m+1} + Cx_3^{m+1}) (Ax_1^{n+1} + Bx_2^{n+1} + Cx_3^{n+1}) \\
 &= A^2 x_1^{m+n} + ABx_1^m x_2^n + ACx_1^m x_3^n + BAx_2^m x_1^n + B^2 x_2^{m+n} \\
 &\quad + BCx_2^m x_3^n + CAx_3^m x_1^n + CBx_3^m x_2^n + C^2 x_3^{m+n} \\
 &\quad + A^2 x_1^{m+n+2} + ABx_1^{m+1} x_2^{n+1} + ACx_1^{m+1} x_3^{n+1} + BAx_2^{m+1} x_1^{n+1} + B^2 x_2^{m+n+2} \\
 &\quad + BCx_2^{m+1} x_3^{n+1} + CAx_3^{m+1} x_1^{n+1} + CBx_3^{m+1} x_2^{n+1} + C^2 x_3^{m+n+2} \\
 &= A^2 x_1^{m+n} (1 + x_1^2) + B^2 x_2^{m+n} (1 + x_2^2) + C^2 x_3^{m+n} (1 + x_3^2) \\
 &\quad + AB(1 + x_1 x_2) (x_1^n x_2^m + x_2^n x_1^m) + AC(1 + x_1 x_3) (x_1^m x_3^n + x_3^m x_1^n) \\
 &\quad + BC(1 + x_2 x_3) (x_2^m x_3^n + x_3^m x_2^n). \quad \square
 \end{aligned}$$

Theorem 10 (Vajda-like Identity). *Let n and m be any integers. Then the following identity is true.*

$$\begin{aligned}
 & GP_{(k,l),n+m} GP_{(k,l),n+r} - GP_{(k,l),n} GP_{(k,l),n+m+r} \\
 &= k^n \left[ABx_3^{-n} (x_1^m - x_2^m) (x_2^r - x_1^r) + ACx_2^{-n} (x_1^m - x_3^m) (x_3^r - x_1^r) \right. \\
 &\quad \left. + BCx_1^{-n} (x_2^m - x_3^m) (x_3^r - x_2^r) \right].
 \end{aligned}$$

Proof. For the proof, we use the Binet-like formula.

$$\begin{aligned}
 & GP_{(k,l),n+m} GP_{(k,l),n+r} - GP_{(k,l),n} GP_{(k,l),n+m+r} \\
 &= (Ax_1^{n+m} + Bx_2^{n+m} + Cx_3^{n+m}) (Ax_1^{n+r} + Bx_2^{n+r} + Cx_3^{n+r}) \\
 &\quad - (Ax_1^n + Bx_2^n + Cx_3^n) (Ax_1^{n+m+r} + Bx_2^{n+m+r} + Cx_3^{n+m+r}) \\
 &= A^2 x_1^{2n+m+r} + ABx_1^{n+m} x_2^{n+r} + ACx_1^{n+m} x_3^{n+r} \\
 &\quad + BAx_2^{n+m} x_1^{n+r} + B^2 x_2^{2n+m+r} + BCx_2^{n+m} x_3^{n+r} \\
 &\quad + CAx_3^{n+m} x_1^{n+r} + CBx_3^{n+m} x_2^{n+r} + C^2 x_3^{2n+m+r} \\
 &\quad - A^2 x_1^{2n+m+r} - ABx_1^n x_2^{n+m+r} - ACx_1^n x_3^{n+m+r} \\
 &\quad - BAx_2^n x_1^{n+m+r} - B^2 x_2^{2n+m+r} - BCx_2^n x_3^{n+m+r} \\
 &\quad - CAx_3^n x_1^{n+m+r} - CBx_3^n x_2^{n+m+r} - C^2 x_3^{2n+m+r} \\
 &= ABx_1^n x_2^{n+r} (x_1^m - x_2^m) + BAx_2^n x_1^{n+r} (x_2^m - x_1^m) \\
 &\quad + ACx_1^n x_3^{n+r} (x_1^m - x_3^m) + CAx_3^n x_1^{n+r} (x_3^m - x_1^m) \\
 &\quad + BCx_2^n x_3^{n+r} (x_2^m - x_3^m) + CBx_3^n x_2^{n+r} (x_3^m - x_2^m) \\
 &= AB(x_1^m - x_2^m) x_1^n x_2^n (x_2^r - x_1^r) + AC(x_1^m - x_3^m) x_1^n x_3^n (x_3^r - x_1^r) \\
 &\quad + BC(x_2^m - x_3^m) x_2^n x_3^n (x_3^r - x_2^r).
 \end{aligned}$$

$$= k^n [ABx_3^{-n} (x_1^m - x_2^m) (x_2^r - x_1^r) + ACx_2^{-n} (x_1^m - x_3^m) (x_3^r - x_1^r) + BCx_1^{-n} (x_2^m - x_3^m) (x_3^r - x_2^r)].$$

So, the proof is complete. \square

3. CONCLUSION

We introduced the (k, l) -Gadovan numbers and some identities of the (k, l) -Gadovan numbers. We obtained relation to some numbers, binomial sums, the generating functions. We obtained the Cassini-like, Catalan-like, Vajda-like, Honsberger-like and D'ocagne-like identities, which are important identities related to number sequences.

REFERENCES

- [1] S. Çelik, İ. Durukan, E. Özkan, *New recurrences on Pell numbers, Pell-Lucas numbers, Jacobsthal numbers, and Jacobsthal-Lucas numbers*, Chaos, Solitons & Fractals, 150 (2021), Article ID: 111173.
- [2] Ö. Erdağ, S.Halıcı, Ö. Deveci, *The complex-type Padovan-p sequences*, Mathematica Moravica, 26 (1) (2022), 77-88.
- [3] O. Deveci, E. Karaduman, *On the Padovan p-numbers*, Hacettepe Journal of Mathematics and Statistics, 46 (4) (2017), 579-592.
- [4] O. Diskaya, H. Menken, *Some Identities of Gadovan Numbers*, Journal of Science and Arts, 20 (2) (2020), 317-322.
- [5] O. Diskaya, H.Menken, *Padovan Polynomials Matrix*, Bulletin of the International Mathematical Virtual Institute, 13 (3) (2023), 499-509.
- [6] O. Diskaya, H. Menken, P. M. M. C. Catarino, *On the bivariate Padovan polynomials matrix*, Notes on Number Theory and Discrete Mathematics, 29 (3) (2023), 407-420.
- [7] O. Dışkaya, H. Menken, *On the bi-periodic Padovan sequences*, Mathematica Moravica, 27 (2) (2023), 115-126.
- [8] A. Faisant, *On the Padovan sequence*, arXiv preprint, 1905.07702 (2019).
- [9] S. Falcon, Á. Plaza, *The k-Fibonacci sequence and the Pascal 2-triangle*, Chaos, Solitons & Fractals, 33 (1) (2007), 38-49.
- [10] V. E. Hoggatt, M. Bicknell, *Roots of Fibonacci polynomials*, The Fibonacci Quarterly, 11 (3) (1973), 271-274.
- [11] T. Koshy, *Fibonacci and Lucas numbers with applications*, John Wiley & Sons, (2019).
- [12] G. Lomeli, A. H. Hernández, Z. Zacatecas, *Repdigits as sums of two Padovan numbers*, Journal of Integer Sequences, 22 (2) (2019), 1-10 .
- [13] A. Nalli, P. Haukkanen, *On generalized Fibonacci and Lucas polynomials*, Chaos, Solitons & Fractals, 42 (5) (2009), 3179-3186.
- [14] E. Özkan, i. Altun, A. Göçer, *On relationship among a new family of k-Fibonacci, k-Lucas numbers, Fibonacci and Lucas numbers*, Chiang Mai Journal of Science, 44 (4) (2017), 1744-1750.
- [15] E. Özkan, H. Aydın, R. Dikici, *3-step Fibonacci sequences in nilpotent groups*, Applied mathematics and computation, 144 (2-3) (2003), 517-527.

- [16] E. Özkan, M. Taştan, *A new families of Gauss k -Jacobsthal numbers and Gauss k -Jacobsthal-Lucas numbers and their polynomials*, Journal of Science and Arts, 20 (4) (2020), 893-908.
- [17] E. Özkan, M. Uysal, A. D. Godase, *Hyperbolic k -Jacobsthal and k -Jacobsthal-Lucas Quaternions*, Indian Journal of Pure and Applied Mathematics, 1-12 (2021), (2021).
- [18] E. Özkan, M. Uysal, B. Kuloğlu, *Catalan transform of the incomplete Jacobsthal numbers and incomplete generalized Jacobsthal polynomials*, Asian-European Journal of Mathematics, 15 (6) (2021), Article ID: 2250119.
- [19] E. Özkan, M. Uysal, *Mersenne-Lucas Hybrid Numbers*, Mathematica-Montisnigri, 52 (2) (2021), 17-29.
- [20] E. Özkan, *On truncated Fibonacci sequences*, Indian Journal of Pure and Applied Mathematics, 38 (4) (2007), 241-251.
- [21] A. G. Shannon, P. G. Anderson, A. F. Horadam, *Properties of Cordonnier, Perrin and van der Laan numbers*, International Journal of Mathematical Education in Science and Technology, 37 (7) (2006), 825-831.
- [22] Y. Soykan, *Generalized Pell-Padovan numbers*, Asian Journal of Advanced Research and Reports, 11 (2) (2020), 8-28.
- [23] S. Tas, E. Karaduman, *The Padovan sequences in finite groups*, Chiang Mai Journal of Science, 41 (2) (2014), 456-462.
- [24] D. Tasci, *Gaussian Padovan and Gaussian Pell-Padovan sequences*, Communications Faculty of Sciences University of Ankara Series A1 Mathematics and Statistics, 67 (2) (2018), 82-88.
- [25] N. Yilmaz, N. Taskara, *Matrix sequences in terms of Padovan and Perrin numbers*, Journal of Applied Mathematics, 2013 (2013), Article ID: 941673, 7 pages.

ENGİN ÖZKAN

DEPARTMENT OF MATHEMATICS

MARMARA UNIVERSITY

İSTANBUL

TÜRKİYE

E-mail address: engin.ozkan@marmara.edu.tr**ENGİN ESER**

GRADUATE SCHOOL OF NATURAL AND APPLIED SCIENCES

ERZİNCAN BİNALİ YILDIRIM UNIVERSITY

20400 ERZİNCAN

TÜRKİYE

E-mail address: engineser1978@gmail.com**MİNE UYSAL**

DEPARTMENT OF MATHEMATICS

ERZİNCAN BİNALİ YILDIRIM UNIVERSITY

FACULTY OF ART AND SCIENCES

ERZİNCAN

TÜRKİYE

E-mail address: mine.uysal@erzincan.edu.tr